## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 20 - Murdostoun
Valid Votes	5,689
Positions to be Filled	4
Quota	1,138

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Robert Livingston ARTHUR	Independent	305
Linsey MCKAY	Scottish Conservative and Unionist	518
Robert John MCKENDRICK	Independent	1,545
Cameron MCMANUS	Scottish National Party (SNP)	1,106
Louise ROARTY	Scottish Labour Party	853
Nicky SHEVLIN	Scottish Labour Party	778
Julia STACHURSKA	Scottish National Party (SNP)	584
	Total	5,689

Candidate Robert John MCKENDRICK Elected with 1,545 votes, being in excess of the quota of 1,138

## **Transfers Report**

This report contains the transfers results.

## Stage 2 - Surplus of Robert John MCKENDRICK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert Livingston ARTHUR	336	0.26343	88.51248
Transfer to Linsey MCKAY	101	0.26343	26.60643
Transfer to Cameron MCMANUS	233	0.26343	61.37919
Transfer to Louise ROARTY	230	0.26343	60.58890
Transfer to Nicky SHEVLIN	214	0.26343	56.37402
Transfer to Julia STACHURSKA	83	0.26343	21.86469
No further preference	348	0.26343	91.67364
Not transferred due to rounding			0.00065
	Total		407.00000

## **Transfers Report**

This report contains the transfers results.

29.37919

# Stage 3 - Surplus of Cameron MCMANUS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Louise ROARTY	78	0.02516	1.96248
Transfer to Nicky SHEVLIN	41	0.02516	1.03156
Transfer to Julia STACHURSKA	903	0.02516	22.71948
Transfer to Louise ROARTY	24	0.00662	0.15888
Transfer to Nicky SHEVLIN	16	0.00662	0.10592
Transfer to Julia STACHURSKA	129	0.00662	0.85398
No further preference	63	0.02516	1.58508
No further preference	40	0.00662	0.26480
Not transferred due to rounding			0.00977
	Total		29.37919

## **Transfers Report**

This report contains the transfers results.

## Stage 4 - Exclusion of Robert Livingston ARTHUR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Linsey MCKAY	66	1.00000	66.00000
Transfer to Louise ROARTY	53	1.00000	53.00000
Transfer to Nicky SHEVLIN	38	1.00000	38.00000
Transfer to Julia STACHURSKA	50	1.00000	50.00000
Transfer to Linsey MCKAY	49	0.26343	12.90807
Transfer to Louise ROARTY	66	0.26343	17.38638
Transfer to Nicky SHEVLIN	71	0.26343	18.70353
Transfer to Julia STACHURSKA	43	0.26343	11.32749
Transfer to Linsey MCKAY	2	0.02516	0.05032
Transfer to Louise ROARTY	1	0.02516	0.02516
Transfer to Julia STACHURSKA	4	0.02516	0.10064
Transfer to Linsey MCKAY	2	0.00662	0.01324
Transfer to Louise ROARTY	1	0.00662	0.00662
Transfer to Julia STACHURSKA	9	0.00662	0.05958
No further preference	98	1.00000	98.00000
No further preference	107	0.26343	28.18701
No further preference	8	0.02516	0.20128
No further preference	11	0.00662	0.07282
Not transferred due to rounding			0.00000
	Total		394.04214

## **Transfers Report**

This report contains the transfers results.

# Stage 5 - Exclusion of Linsey MCKAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Louise ROARTY	194	1.00000	194.00000
Transfer to Nicky SHEVLIN	108	1.00000	108.00000
Transfer to Julia STACHURSKA	13	1.00000	13.00000
Transfer to Louise ROARTY	42	0.26343	11.06406
Transfer to Nicky SHEVLIN	27	0.26343	7.11261
Transfer to Julia STACHURSKA	5	0.26343	1.31715
Transfer to Louise ROARTY	1	0.02516	0.02516
Transfer to Nicky SHEVLIN	2	0.02516	0.05032
Transfer to Julia STACHURSKA	2	0.02516	0.05032
Transfer to Louise ROARTY	1	0.00662	0.00662
Transfer to Nicky SHEVLIN	1	0.00662	0.00662
No further preference	269	1.00000	269.00000
No further preference	76	0.26343	20.02068
No further preference	3	0.02516	0.07548
No further preference	1	0.00662	0.00662
Not transferred due to rounding			0.00000
	Total		623.73564

## **Transfers Report**

This report contains the transfers results.

# Stage 6 - Surplus of Louise ROARTY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Nicky SHEVLIN	873	0.04468	39.00564
Transfer to Julia STACHURSKA	50	0.04468	2.23400
Transfer to Nicky SHEVLIN	224	0.01177	2.63648
Transfer to Julia STACHURSKA	23	0.01177	0.27071
Transfer to Nicky SHEVLIN	29	0.00112	0.03248
Transfer to Julia STACHURSKA	27	0.00112	0.03024
Transfer to Nicky SHEVLIN	9	0.00029	0.00261
Transfer to Julia STACHURSKA	4	0.00029	0.00116
No further preference	177	0.04468	7.90836
No further preference	91	0.01177	1.07107
No further preference	24	0.00112	0.02688
No further preference	13	0.00029	0.00377
Not transferred due to rounding			0.00086
	Total		53.22426

## **Transfers Report**

This report contains the transfers results.

## Stage 7 - Exclusion of Julia STACHURSKA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Nicky SHEVLIN	244	1.00000	244.00000
Transfer to Nicky SHEVLIN	53	0.26343	13.96179
Transfer to Nicky SHEVLIN	23	0.04468	1.02764
Transfer to Nicky SHEVLIN	335	0.02516	8.42860
Transfer to Nicky SHEVLIN	15	0.01177	0.17655
Transfer to Nicky SHEVLIN	36	0.00662	0.23832
Transfer to Nicky SHEVLIN	13	0.00112	0.01456
Transfer to Nicky SHEVLIN	4	0.00029	0.00116
No further preference	403	1.00000	403.00000
No further preference	78	0.26343	20.54754
No further preference	27	0.04468	1.20636
No further preference	574	0.02516	14.44184
No further preference	8	0.01177	0.09416
No further preference	102	0.00662	0.67524
No further preference	14	0.00112	0.01568
Not transferred due to rounding			0.00000
	Total		707.82944